k“ % @ '%‘ drei Briiche, Deikmal, Operationsreihenfolge mit

Klammern
Name: Datum: Ergebnis:
1 1 3 1
2— =o)X == 4—-)x ==
@=39*3 =%
66 46 77 301
- )+4= LT V2T =
( 5 5 ) ( 2 10 )
1 1 1
S— o) x=Z = 2+2 - =
(5-3)%5 @+2,8)%
9 156 1
—+t—)+6= 1—=)=
G+—=)* 55,1~ 3)
46
(1-3)+2= 2A5-2)=

www.snowmath.com


https://www.snowmath.com

2 ¥ e

drei Briiche, Deikmal, Operationsreihenfolge mit

Klammern
Name: Datum: Ergebnis:
1 1 9 3 1 5
2— — - = — 4— — - = —
@-35%57 3 G-I~ 1
66 46 77 301 6
(&~ <)=4=1 (5 —55)+T=1¢
5 5 2 10 5
1 1 9 1 4
- - - = = 2+2 -= =
G=2)*573 @+28x 5= 3
9 156 119 1
-+ —)+T6=— 1—-=)=2
(2 5 )6 20 5(5, 2) 3

46, 1l
(71-3)+2=(15)

2 8
25-2=3)
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